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EEaV D) —hEEHEE

215 EEEfE(m) CiEEVZUR =T - E A5 EE R (m) fIEEav)) - e wH-b=
mfE DFH @(m2) D x @ (m3) mE DFEH @(m2) D x @ (m3)
NoO 1.50 No23(W) 2.97 0.12 0.36
No1 3.00 2.42 0.11 0.27 No24 5.94 2.97 0.05 0.15
No2 1.84 2.40 No24(W) 1.06
No3 295 2.15 0.49 1.05 No25 14.12 14.64
No4 1.35 217 0.21 0.46 No26 15.15 10.56
No5 2.99 482 0.79 3.81 No27 5.96 2.98
No6 6.65 4.30 0.87 374  No27(W) 217
No7 1.94 2.75 0.34 0.94 No28 433 12.03
No8 3.56 4.20 0.26 1.09 No29 19.72 9.86
No9 4.83 4.09 0.41 1.68 No29(W) 1.99
No10 3.35 4.12 0.46 1.90 No30 3.97 1.99
No11 4.89 3.94 0.77 3.03 No30(W) 1.18
No12 2.99 3.44 0.27 0.93| No30+2.36 2.36 1.18
No13 3.88 4.93 0.29 1.43
No1l4 5.98 5.02 0.15 0.75|/VEt 71.55 0.51
No15 4.06 2.03 0.15 0.30
No15(W) 3.06 =11 158.20 21.89
No16 6.11 5.56
No17 5.01 4.48
No18 3.95 1.98
No18(W) 3.47
No19 6.94 5.16
No20 3.38 3.22
No21 3.06 2.23
No22 1.40 1.97
No23 2.54 1.27
INET 86.65 21.38




T3 (GEm)

APREE (REER)

ERHR (R Cu® - zF )
T Y+ (m3) Bt (m3) D MBEZK 09| # My e EEA L ()
A Al (m) C1: 2| C2:FRiE Hi B1:E+L B2:ER M rELE AL | AR | AL | BAL| B L [coutmst|l mimEtr
A FEy|E|OtE|(wE |0+t |3=-0+Q WE |@O+t2 | HE [0+ |[6=-@+6 6 D| m3d) | m3) | md) | m3) | m3) |*E| @ |=E| B8
-97.5 14.50 3.2 46.4 46.4 51.6 51.6
-68.5 29.00 14.50 3.2 46.4 46.4 51.6 51.6
14.25 40 57.0 57.0 63.3 63.3
-40.0 28.50 34.25 45 154.1 154.1 154.1
0.0 40.00 26.05 1.7 443 443 1.8 46.9 46.9 52.1 443 7.8
12.1 12.10 10.75 0.1 1.1 1.1 45 48.4 48.4 53.8 1.1 52.7
215 9.40 9.05 16.7 151.1 151.1 167.9 167.9
30.2 8.70 11.10 1.3 144 144 3.2 35.5 35.5 39.4 14.4 25.0
43.7 13.50 30.90 3.3 102.0 102.0 1.0 30.9 30.9 34.3 34.3 67.7
92.0 48.30 46.65 1.2 56.0 56.0 3.6 167.9 167.9 186.6 56.0 130.6
137.0 45.00 27.70 1.8 49.9 499 1.2 33.2 33.2 36.9 36.9 13.0
147.4 10.40 13.50 2.2 29.7 29.7 2.1 28.4 28.4 31.6 29.7 1.9
164.0 16.60 12.50 1.7 21.3 21.3 2.4 30.0 30.0 33.3 213 12.0
172.4 8.40 7.80 0.9 7.0 7.0 2.4 18.7 18.7 20.8 7.0 13.8
179.6 7.20 7.60 1.0 7.6 7.6 2.1 16.0 16.0 17.8 7.6 10.2
187.6 8.00 4.00 7.7 30.8 30.8 30.8
it 285.10 518.20 518.20 756.80 756.80| 841.00] 252.60| 588.40 265.60
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L) EE
LAJL4 (R LAILE (371%) 1 = £ s we Bi | ®E

G0001 A'U¥7V)1—-L (BF){#58 T 500%¢ }98%"5 =

e i R RIRERE1-131&Y 33.750] 2 33.75 | m2 [SZB431

av9-+ 18782988 M+ e REEARERE1-131&Y 2.630| 3 263 | m3 [SzB30f
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14 %

LARJL4 (HBA) LARILE (3R1%) " 2 HE e B | w5
G0002 KBIEEET lﬁm%t
EmEIE IKHEER 1.15[m: &1 x 1.40[m:1§]= 1.610
BaEh 0.54[m:&] x 1.40[m:M&]= 0.756

& 2.366] = 2.37 | m2 [SZA169

HEEEA fﬁ;‘c‘g EEEEIEFEERL 2.366) 2 237 | m2 |SZA391
pisk IKAERR HVE (1.05[m: &1 x 2[@E]+1.20[m:18]) x0.75[m: &= 2.475
KEE NE 0.90[m:&] x3[ME] x0.75[m:F]= 2.025
5% (BF)[0.216[m2: WETR] x 2[ M ]= -0.432
BaEis 1.20[m: 18] x (1.10[m:F]1+1.10[m: F] x 1.044 [ A EFHEE])= 2.698
Bad fm (0.41[m: EME]+0.74[m: Fi&1) /2% 1.10[m:F] X 2[@E]= 1.265
#R% (OvY'U)|0.314[m2: BrEFE] +0.314[m2 BT EFE] X 1.044 [ A ER{R ] = -0.642

& 7.389] 3 7.39 | m2 |SzB431
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LARIL4 (FE51) LARILS (FR#&) =1 =X #HE weE =Ry =E3
Ny 18-8-40BB
7=+ W/C<60%
KFEER 1.05[m:E]1x1.20[m:1§] X0.75[m: & 1= 0.945
PERR (HZE)[0.90[m: E]1 X 0.90[m:1§] X 0.60[m: = ]= -0.486
2% (BF) (0.216 [m2: B EFE] X 0.15[m: [E]= -0.032
BEER (041[m: ER]I+074[m: K1) /2x1.20[m:1E] x 1.10[m: F]= 0.759
¥R (AYIU)| (041 [m: ER]1+0575[m: TE])/2%x0314[m2: BrE#E]= -0.155
H 1.031| = 1.03 | m3 |SzB401
K 0.20[m] x 11[A] % 0.995[ke/m]/1000= 0.0022| = 0002 | t [SF201
(D13)
EMRE= 58 t=4.5mm 1.20[m: {1 x0.60[m: 18] % 36.99[kg/m2]=26.63[kg]
L%S?x”égzﬂ 0.895[m:&] x 2[&Fr] x 3.06[kg/m]=5.48[ke]
jf%#%ﬁlﬁl 0.30[m/BEFr] x 2[EFr] x 1.04[kg/m]=0.62[ke]
&t 32.73[ke] 2.000( = 200 [ # |SG327N
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LARIL4 (FE51) LARILS (FR#&) =1 =X #HE weE =Ry =E3
G0003 +&5T H300 W450 10m¥%7f=y
HEEIE 10.00[m:E]x045[m:Mg]= 4500| = 450 | m2 [SZA169
Eidlp =] 10.00[m:E] % (0.30[m: =®]1+0.15[m:&])= 4500| = 450 | m2 [SzB431
h—h 18-8-40BB 10.00[m: ] x0.109[m2: T #hak BB L {BAE RS ]= 1.090| = 109 | m3 |szBaot
W/C =<60% : : : : S axA : : :
B #h41 [T BB EEAERET &Y 0.109| = 0.11 | m2 [SzA841

(T7A44M=10mm)
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G0004 Kimavs)-bIT 1:05 EaviL 10m¥ =Y
Eily e AFRMFERE T IR IEIHE—ER 1KY 1.750| = 1.75 | m2 |SZB431
avh)—+ \1,\,8/_3265&8 AFRMEE T IR IGIHE—ER 1KY 0.306] = 0.31 | m3 [SzB401
B 0.306[m3:31v%Y-}44&E1/10.0[m]= 0.031| = 0.03 | m2 [SZA841
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G0005 K T 1% 1 G S
EmEIE 1.40[m: &1 x 1.45[m:1@]= 2.030| 2 203 | m2 [SZA169
HEEEA fﬁ;‘c‘g EEEEIEFEERL 2.030| 2 203 | m2 |SZA391
pisk IKAERR HVE (1.20[m: &1 +1.25[m:18]) x 2[&EFr] x 0.75[m: & 1= 3.675
KEE NE 0.90[m:&] x 4[&FRF] x0.75[m: /1= 2.700
g}gé%%ﬂﬁﬂ%(BF— 0.216[m2: K] x 4[ & ]= ~0.864
%ﬁ?ggmmmﬁ 0.50[m: &1 % 0.60[m: 5] x 2[HE]= ~0.600
%kr‘;f%%ﬂﬂn%t(ﬁﬂziﬁ 0.20[m: 18] X 0.60[m: &1 x 2[E]= 0.240
i k- 1 1.00[m: &1 x0.55[m: =] x4[@E]= 2.200
WUFRER (MTE) (0.80[m:M&] x 0.55[m: 1)~ (0.50[m:ME] X 0.40[m:FH])= 0.240
&t 7.591| 3 759 | m2 |SzB431
H—t 18-8-25BB

W/C =60%
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B @ =x ug). ZE

LARJL4 (HBA) LARILE (3R1%) " 2 HE e B | @&
IKHEER 1.20[m: &1 x 1.25[m:#g] X 0.75[m: & 1= 1.125
IKHEERIZERR (MZE) [0.90[m:f&] % 0.90[m:1E] X 0.60[m: & ]= -0.486
;ﬁf%ﬂ#ﬁﬂ%(BF— 0.216[m2: BFEE] X 0.15[m: B ] x 2[ & 1= ~0.065
znzkﬂ;f%%ﬂﬁﬁ(ﬁﬂziﬁ 0.50[m: ] x0.20[m:[E] x0.60[m:7&]= ~0.060
WUFRER 1.00[m: &1 x (0.80[m:#&] X 0.55[m:&1-0.50[m:#g] X 0.40[m: & ]1)= 0.240

&t 0.754| = 0.75 | m3 [SzB401
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G0006 K 2% bﬁ’iﬁ s
pisk A 0.30[m: &1 x (0.10[m:F]1+0.29[m:F]1) x 2[ &R 1= 0.234
JK B4 0.30[m:&] x0.38[m: & ] x 2[&FT]= 0.228
BT 0.30[m: &1 x0.089[m2: BrE#&] x 2[ & FT1= 0.053
& 0.515( 3 052 | m2 |SzB431
Wyt 1884088 0.30[m: £ ] x 2[ & ] x 0.089[m2: Wi EHE 1= 0.053) 0.05 | m3 |szB4o1

W/C =60%
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G0007 43KT M-9X9x9 bﬁﬁﬁﬁf:
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& 3.830| 3 3.83 | m2 [SZA169
HEEEA fﬁ;‘c‘g EEEEIEFEERL 3.830) 2 383 | m2 |SZA391
pisk IKAERR HVE (1.20[m: &1 +1.25[m:18]) x 2[&Fr] x 1.05[m:F]= 5.145

KEE NE 0.90[m:&] x 4[&EFF] x 1.05[m: /1= 3.780

g}gé%%ﬂﬁﬂ%(BF— 0.216[m2: K] x 2[ &= -0.432

IKFEERIERR (HP)  (0.102[m2: B EF&] x 2[ME]= -0.204

znzkﬂ;f%%ﬂﬁﬁ(ﬁﬂziﬁ 0.50[m: &1 x 0.90[m: &1 x 2[&]= -0.900

gﬁtg%ﬂ””% (BGR 10.20[m: 18] x 0.90[m: &1 x 2[ &= 0.360

i k- 1 1.80[m:&] % (0.85[m: ABTE®]+0.55[m:BEiE=]) /2 X 4[@E]= 5.040

WUFRER (MTE) (0.80[m:M&E] x 0.55[m: 1)~ (0.50[m:ME] X 0.40[m:FH])= 0.240
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Ly)) EF
LARIL4 (FE51) LARILS (FR#&) =1 =X #HE weE =X iv) =E3

=t 13.029| = 1303 | m2 [SzB431
- 18-8-25BB
A270=k W/C <60%

KFEER 1.20[m:E]1x1.25[m: 18] X 1.05[m: 5 1= 1575

IKIEERZERS (NZE) |0.90[m:E] X 0.90[m: 18] X0.90[m: & 1= -0.729

;ﬁf%ﬂﬁﬂ%(BF— 0.216[m2: B EHE] X 0.15[m: ] x 1 [ ]= -0.032

gﬁfgmﬁmpd’ 0.102[m2: B EHE] X 0.15[m: ] x 1 (&7 ]= -0.015

;’Efgg“*ﬁf’*(ﬁm 0.50[m: ] x0.20[m:[E] x 0.90[m: &= 0,090

st 1%;8]0)[:m:E] x (0.80[m:M§] X 0.70[m: FEJF]-0.50[m:HE] X 0.55[m: F13 0513

=t 1.222|2 122 | m3 |SzB401
. AT —45008 B .
Ul N % =%k 7L—hF&1.50m 1.000 100 | # (S3034
i —MES W=92kg /£ 1.000] = 1.00 | # [S3205
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G008 HRERL-2v))- MR ET 1)0m3J=‘l7‘:
IRE 10.000] = 10.00 | m3 [SzA161
& 10.000] = 10.00 | m3 |SZA125
LTEEXEE TEA B rs3976 £YZhLIVy-IRLIEBTL |IZEET S 0.400| = 040 | A [RAO10




